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SIVI OLCME
¥ Asagidaki islemleri istenilen birime gére drnekteki gibi yapalim.
3L-750ml=...3720 L 4L 41370 mls oo ml_
3000 -750=3750mL | | e
2450 mL + 5500 mL = ............. L 6700mL -3 L=................. mL
FL+3625 mb=................. mL 9L-6096 mL=.................. mL
4820 mL + 6180 mL = ............. L 8650 mL -2650mL=............. L
6L-4L=................. mL 12L+4745 ml= .................. mL
3645 mL +2355 mL=............. L 1O0L-7508 mL= ...l mL
4780 mL -3930mL =............. mL FL+8 L= mL
15L-9048 mL=.................... mL 3L+6365ml=.................. mL
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